PHYSICS

2017 (8) Roll No:

INTERMEDIATE PART-IT (12" CLLASS)
PAPER-1I (NEWSCHEME  (SESSION 2015-2017)

TIME ALLOWED: 2.40 Hours SUBJECTIVE MAXIMUM MARKS: 68

NOTE: - Write same question number and its purt number on answer hook,

as given in the question paper.
SECTION-I
2. Attempt any eight parts. 8=2=16
(1) Eleetric lines of force never cross each other Why?
(11} Suppose that vou follow an electrie field line due 10 a Posilive point charge.
Do electric ficld and the potential increase or decrease? Explain,
(1)  Describe the Force or Forces on a positive point charge when placed belween
parallel plates with opposite and equal charge.
(iv}  Two opposite point charges, each of magnitude q are separated by a distance 24 .
What is the electric poiential at 2 point P mid-way between them?
(v) Why the resistance of an amuneter should be very low?
(vi)  Why does the picture on a TV screen become distorted when a magnet is brought
near the screen?
(vii) How can a current loop be used to determine the presence ol a magnetic field ina
given region of space?
(viti) Differentiale between magnetic flux and flux density?
(ix)  Can an electric moter be used 1o drive an clectric gencrator with the output from the
generator being used to operate the motor?
(x)  Inacertain region the earth’s magnetic field point vertically down, When a plane flics
due north, which wingtip is positively charged?
(xi)  Does the induced eml always act 1o decrease the magnetic Mux through a circuit? Explain.
(x1i) How would you position a flat loop of wire in a changing magnetic field so that there
is no emf induced in the loop?
3. Attempt any cight parts, 8xX1=16
(i) Define Electroplating and Electrolysis,
(i}  Describe a Circuit which will give a continnously varying Potential,
(iii) ~ Why the terminal potential difference of a battery decreases with increase in
drawn Current? Explain,
(iv)  Define Impedance and give its Units.
(v)  How does doubling the Frequency affect the reactance of (a) An inductor (b) A capacitor.
(vi)  What is meant by A M and F.MP
(vi) Define Polymeric Solids, Also give two examples.
(viii) Define Tensile Strain and give its Units,
{(ix)  Define Brittle Substance and give lwo examples.
(x)  How OP- Amplifier is nsed as Comparator? Explain with circuit diagram.
{xi)  Why charge carriers are not present in the Depletion Region?
(xil) Whal is the effect of forward and reverse biasing of a diode on the width of Depletion Region?
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(1)
(ii)
(iii)
{iv)
(v)
(vi)
(vii)
{viil)

(ix)

(2)
Attempt any six parts. 6x2=12
Detine special theory of Relativity and General theory of Relativity.
What happens to total radiation from & blackbody if its absolute temperature is doubled?
When does light behave as 2 Wave? When does 1t behave as a particle?
Define  metastable State and population inversion for LASER,
What are the advantages of laser over ordinary i ght?
Define Nuclear Fission and Nuclear Fusion.
What are Isotopes? What do they have in common and what are their differenees?
What factors make a fusion reaction difficult to achieve?

If you swallow an @ —source anda  f source, which would be the more dangerous to you?

Explain why?

SECTION-11

NOTE: - Attempt any three questions.

5.4)

(b)

0.(a)

(b)

T.a)

(b)

8.(a)

(D)

9.(a)

()

What is Rheostat? How it is used as a variable resistor as well as potential divider?

LM

Determine the electric field at the position » = (4 = 37)m caused by a point charge

¢ =(3.0% 10" ¢ placed at origin, 3

Defline Ampere’s law. Calculate the magnetic field due to current flowing through a salenoid. 3

A coil of wire has 10 Loops. Each loop has anareaof 1.5 %107 m*. A magnetic field is

perpendicular to the surface of each loop at all times. If the magnetic field is changed from
DO5Tw 0067 in 018 Find the average emf indueed in the coil during this time. 3

Describe transistor as an amplifier and derive its gain formula. >

A circult has an inductance of l I and resistanee of 200002, A 50 Mz A.C.

qr

fe

is supplied to it. Calculate the reactance and impedance ofiered by the eireuit. 3

State Louis de Broglie’s Hypethesis. How Davisson and Germer verify it by experiment? 5

A 1O m long copper wire is subjected to stretching force and its length increases by 20 om.

Calculate the tensile strain and the percent elongation which the wire undergoes. 3
Define the half life of a Radioactive Element, How the half life of a radioactive
element can be determined?

5
Find the speed of the electron in the first Bohr orbit. 3

0
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Paper Code 2017 (8) Rall No.
4471 INTERMEDIATE PART-II (12" CLASS)

Number:
PHYSICS PAPER-I1 (NEW SCHEME) (SESSION 2015-2017)
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: |7

Note: You have four choices for each objective type question as A, B, C and I). The choice which vou
think is correct, fill that cirele in front of that questivn number. Use marker ar pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Allempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case

BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.
).No.1

(1) Thevalueof & is- (A) B85S x 10 CIN "

(B) B85 =107 C*N ™ (C) 8BRS 107°CN'm™ (D) 885107 3N '™
(2) 1 volt is equal w:- (A) 147 ® 1 (©) ]ﬂ%. (D) 14C
(3)  Unitof resistivity is:-

(A) Olun (3} Ohm meter (C) Ohm™ meter™ (D) mho
4)  Unit of magnetic induction is also:-

(A) NA™' ™! (B) N4 i () Ndm™ (D) NAm
5)  Formula for ’;’{n of an electron is:-

) (B) — @&y — D) =
B wy ' By* B*r
i) Unit of mutual induction is also:-
{(A) PS4 (B) ¥S™'4 {C) K54 () ¥a ' !
7} Energy stored per unit volume in magnetic field is:-
T 2B IR S
(A) (B) — (L) - 2) —=
2JMI‘I .JI‘P'IJ .H'J' SH,
(8) The P-PFP wvalueofthe a.c vollage is:-
{A) 2F, (B) ¥, (C) ¥} (D) 2¥;
(%) The rms value of voltage is:-
(A 0.7 ¥, {B) 0.07 (C) 00707 ¥, (D) D.78 K,

{10} Pelythenc is an example ofi-
(A) Amarphous solid (B) Palymeric solid  (C) Crysialline solid (D) Plasma
(11} The value of potential barrier for germanium is:-
(A) 0317 (B 0.7 (C) 0.33F (Dy DO7F
(FZ) A photodinde can tum its current ON and OFF in:-
(A) Nano seconds (B) Milli seconds {C) Micro seconds (D) Mega seconds
(13) The speed of light "¢ in free space is same {or:-
(A) Two ohservers (B All observers {CC) Three ohservers (1) Four abservers
(14) When platinum wire is heated, it appears yellow at:-
{A) 1300°C (B 1100°C (C) 800" C (I 500° C
(13)  The value of the Rydberg’s constunt is:-
(AY L0974 107 m™  (I3) 1.0974 < 107 k™" (C) 10974 % 107em™ (D) 0.0974 x 107 m™
{16} The value of atomic mass of an electron is:-
{A) 0.00055 u (BY 1.OOOSS u (C) 010055 w (D) 0.01055 »

(17)  The speed of @— particle is:-

(A) 10" ms™ (B) 10°ms ! (C) 107 ms (D) 10%ms ™
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Paper Code 2017 (8) Rall No.
4 47 3 INTERMEDIATE PART-II (12" CLASS)

Number;
PHYSICS PAPER-II (NEW SCHEME) (SESSION 2015-2017)
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for each ubjective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
A3 given in objective type gquestion paper and leave athers blank., No credit will be awarded in case
RUBBLES are not filled. Do not solve question on this sheet of OBIECTIVE PAPER,

Q.No.1

(1) The value of the Rydberg's constant is:-

(A) 109745 107 ™ (B) 10974 x 1074dm™" () 1.0974 % 107em™ (D) 0.0974 % 107 m
(2}  The value of atomic mass of an electron is:-

(A) 0.00055 u (B) 100055 u (C) 0.10055 u (D) 0.01055 u
(1}  Thespeed of a@— particle is:-

(A) 10 ms | (B) 10°ms™ (C) 107 ms (D) 10" ms™
(4)  The value of ¢, is- (A) B.8S x 107 2N 'm

(B) 885« 107V C* N 'm™ () BB % 10C*N'm? (D) 8.85 <107 C*N'm™
(5} 1 voltisequal to- (A) 1 ;’L (B) 1-}; (Cy 1 '*/(i (M) 1J.C
(6  Unitof resistivity is:-

(A) Ohm (B Ohm meter (C) Ohm™ meter™ (1)) mha

(7)  Unit of magnetic induction is also:-
(A) M o (B) N4 'm (C) Ndm™ (D) Ndm
(8) Formula ftor f/ of an electron is:-
m

2y v 2y
A ——— (Bl — i : My —
A3 Br Bl 1 Br* ® B'r
(9} Unit of mutwal induction is also:-
{A) PS4 (B) ¥S™' A (C) ¥34 (D) ¥ m™
(10} Energy stored per unit volume in magnetic fizld is:-
e B 2R L 2F el 0
(A) — Byt = ) -2
2y #5 Ly 2u;
(1) The P-P valueofthe a.c voltageis:-
(A) 2V, (B) 1, (C) ¥ (D) 207
(12}  The rms wvalue of voltage is:-
(A) 0T F, {B) 0.07 ¥, {C) D.OTAT7 F, (D) 078 F,

{13) Polythene is an example of:-
(A) Amorphous solid  (B) Polymeric solid  (C) Crystalline solid (D) Plasma
(14) The value of potential barrier for germanium 1s:-
(A) 0.3V (B) 0.7F (C) 0.35F (D) 0.07F
{1%) A photodiode can turn its current ON and OFF in:-
(A) Nano seconds (B Milli seconds {C) Micro seconds (D) Mepa seconds
(16) Thespeed of light 'e¢' in free space is same for;-

(A) Two obzervers (B) All observers (C) Three observers (D) Four observers

-

{17y  When platinum wire is heated, it appears yellow at:-

(A 1300°C (B) 1130"¢ () 900" C (03 500°
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Paper Code 2017 (5) Roll No,
INTERMEDIATE PART- B
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TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17

Note: You bave four choices for each objective type question as A, B, C and D. The choice which you
think is correcet, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zern mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No eredit will be awarded in case
BUBEBLES are not filled. Do not solve question on this shect of OBIECTIVE PAPER.

().No.1

1y Unitof mutual induction 15 also--

(A) K54~ (R) V&' 4 (C) V54 (Y K m™
(21 Energy stored per unit volume in magnetic field is:-
B 27 257
(A) By == ey 22 1o B
24, L, Jir 205
{3) The F-P wvalueofthe a.c vollgeis:-
(A) 2V, B) F, (C) ¥2 (D) 2¥;

(4)  The rms value of voltage 1s:-
(A) 0.7 F, (B) 0.07 ¥, (C) 0.0707 ¥, (D) 078 ¥,
(57 Polythene 15 an example of-
{A} Amorphous selid (B) Polymeric selid  (C) Crystalline solid (D)) Plasma
(6) The value of potential barrier for germanium is:-
(A) 0.3F (B) 0.7F (C) 0.35¥ D) 00TV
(7) A photodiode can turn its current ON and OFT in:-
(A} Mano seconds (B) Milli seconds (C) Micro seconds (D) Mepa seconds
(8) Thespeed of light '¢' in free space is same for;-
{A) Two observers  (B) All observers (C) Three observers (D) Four observers
(%)  When platinum wire is heated, it appears vellow at:-
(A) 15300°C B) L10¢°C (C) 900°C (D) 500°C
(107 The value of the Rydberg’s constant ig:-
(A) 10974 x 10" m™' (B 1.0974 107 %m ' (C)1.0974 % 107em ' (D) 0.0974 % 107 m ™
(11}  The value of atomic mass of an electron is:-
(A) 0.D00SS u (B) 1.00055 (C) 0.10035 u (D) 0.01055 u
(12} Thespeed ot @ - particle is;-
(A) 107 ms™ (B) 10%ms™ (C) 107 5™ (D) 10° my™
(13)  The value of £, is:- (A)BES =10 " "N 'm™
(B) 8.85 = LOTVC* N m™  (C) 885 x 107VC N 'm™ (D) 885 x 10 CN '™
(14) | voltisequal to:- (A) lffé_. (B) lf/m (C) 1’}9 (D) 1J.C
(15)  Unit of resistivity is:-

() Ohin (B) Ohm meter (Cy Obm " merer ' (1) mho

(1o} Unit of magretic induction is also:-
(A) NA™ m™ (B) NA i (C) NAm™ (1Y) NAm
(17) Formula for ﬂfm of an electron is:-

Ty 11 _ v - P
T 7 LI o D 9
Br ) Br* ) A

“*l;Uth{****]-zﬂ17(5'5-1 100 (MULTAN)
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MNumber:
PHYSICS PAPER-IT (NEW SCHEME)
TIME ALLOWED: 20 Minutes OBJECTIVE

Roll No.

INTERMEDIATE PART-II (12" CLASS)

(SESSION 2015-2017)

MAXIMUM MARKS: 17

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that cirele in front of that guestion numhber. Use marker or pen to fill the circles.
Cutting vr filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in ohjective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled, Do not solve question on this sheet of OBJECTIVE PAPER.

).MNo.1
(1) The - F valueofthe a.c voltage is:-

(A) 2F, (B} ¥, (C) ¥
(2) The rms value of voltage is:-

(A) 0.7V, (B) 0.07 ¥, (C) 0.0707 ¥,
(3) Polytheneis an example oft-

(A) Amorphous solid (B) Polymeric solid  (C) Crystalline solid
(4)  The value of potential barrier for germanium i1s:-

(A) 03K By 0.7V (C) 0.35F
(3) A photodiode can tum its current ON and OFF in:-

(A} Mano seconds (B) Milli seconds () Micro seconds
{6) 'The speed of light '¢' infree space is same for:-

{A) Two ubservers (3) All observers (C) Three aobservers
{7} When platinum wire is heated, it appears yellow at:-

(A) 1300°C (B) 1100°C () 900" ¢

(D} 207

(Dy .78 I

(T2} Plasma

(L) 0.07F

(D) Mega seconds

(1) Four observers

(D) S00°C

(8)  The value of the Rydberpg’s constant 1s:-
(A) 10974 = 10" m™  (B)1.0974 % 107 km™ () 10974 x 107 em™ (D) 0.0974 % 10" m™
(<) The value of atomic mass of an electron is:-
(A) 0.00055 u (B} 1.00055 u (C) 010055 u (D) 0.01055 u
(10)  The speed of & — particle is:-
(AY 107 ms ! (B) 10%ms | (10 ms ! (MY 10" ™
{11) 'Thevalueof &, is:- (A) 8BRS = 107N ™
(B) 885 x 107" C*N'm™ (C)BESx 10" C*N-'m? (D) BBIx10°C'N'm"~
(12 1 volt is equal to:- (&) 'rjr/E (B) i-‘:f; {C) h“}}’;? {Im 1.
(13)  Unit of resistivity 15:-
{A) Ohm (B) Ohm meter (C) Ofim™ meter™ (D) mho
(147 Unit of magnetic induction is also:-
(A) NA ' (B) NA 'mi (C) Ndm™ (D} Ndm
{15)  Formula lor f/;; of an clectron is:-
2r v o A
(A) — (B) : (C) —= () —
’ Br iy fr® #r
(16}  Unit of mutual induction is also:-
(A) V5S4 (B) VS A (C] 1S4 (D) ¥t '
{17}  Enerpgy stored per unit volume in magnetic field is:-
B B oy -
(A) B —~— (C) (D) —
2y, My te u

]
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2017 (S) Roll No:
INTERMEDIATE PART-II (12% CLASS)

PHYSICS PAPER-II (OLD SCHEME) (SESSION 2012-2014)

TIME A
NOTE: -

(i)

(i)
(iii)
(iv)

(v)
(vi)
(viii
{vit)
{1x)

(x)

{xi)

(xii)

(1)

(11}
(1i1)
(iv)
()

(vi)
(vii)
(wiii)
(%)
(%)
(x1)

(i)

(i)

(i)
(i)
(iv)

(v)

(i)
{vii)
{viii)
(1x)

LLOWELD: 3.10 Hours S TIVE MAXIMUM MARKS: 83
Write same question number and its part number on answer book,
as given in the question paper,

Altempt any Eight parts. 8x2=16
How can you identify that which platc of a capacitor is positively charged?

Do clectrons tend 10 go to region of high potential or of low potential? Explain briefly.
Define Electric Field and Electric Flux.

A particle carrying charge of 2e falls through a potential difference of 3.0 .
Caleulate the encrgy acquired by it.

Why does the picture on TV screen become distorted when a magnet is brought near the screen?
How can you use a magnelic field ta separate isolopes of chemical element? Fxplain briefly,
Define Magnetic Flux and Flux density.

Describe briefly the Loventz Force,

Does the induced emf in a circuit depend on the resistance of the circuit? Explain briefly.

: A ;
Show that £ and I— have the same units,
{

What is a Transformer? Also write its working principle.
Describe briefly the back motor effect in generators.

Attempt any Eight parts. 8x2=16
Find the resistance if’ colour code is as Brown—Crreen—Red-Gald,

What are the difficulties in testing wheter the filament of a lighted bulb obeys Ohm’s Law?
Do bends in a wire affect its electrical resistance? Explain.
What is meant by A.M and F.M?

How many times per second will an incandescent lamp reach maximum brilliance
when connected w a 50 Hz source.

Whal is meant by instantanecus value of current?

What are ferromagnetic substances? Give an example,

What do vou know about the term “domains™ in ferromagnetic substances?
Why Hard Magnetic materials are easy to magnetized or demagnetized?
Why a photo diode is operated in reverse biased state?

Why is the base current in a transislor very small?

Write down the truth table of NOT gate.

Attempt any Six parts. 6x1=12
State Stelen Boltzmann Law for Radiation.

Which has the lower energy quanta? Radio waves or X —rays. Explain
Whalt are the measurements on which two observers in relative motion will always agree upon’?
Write the difference between Spontuneous and Stimulated Emission,

What is meant by Line Spectrum? Explain how line speetrum can be used
for identification of elements?

What are Leptons?
Describe the principle of operation of a solid state detector.
What fraction of a radicactive sample decays after two half lives have elapsed?

A particle which produces more ionization is less penetrating.why?7

P.T.0)




(2) !

SECTION-11 (Essav Tvpe)

NOTE: - Atrempt any three questions. §x3=14
5(a)  Define Capacitance and derive the expression for capacitance of parallel plate capacitor.
Also discuss the elfect on capacitance if dielectric medium is inserted between the plates. L5341
{b)  The resistance of an iron wire at 0°C is 1 = 10°Q . What is the resistance at S00°C
if the temperature coefficient of resistance of ironis 5.2 =« 107 K71 7 3
ffa)  Give the construction and working of a transformer, 3
bl Asolenoid 15 em long has 300 turns of wire, A current of 54 flows through it.

What is the magnitude of magnetic field inside the solenoid?
Where g, =da =107 WhaA'm™ 3

7.(a) Describe the series resonance cireuit Lo find the resonance [requency. Also write its praperties. 3
{b} The current flowing into the base of a transistor is 100 ¢4, Find its collector current 1.,
its emitter current f,. and the ratio f;/; , 1f the value of current pain § is 100. 3
8.(a) Define Photoelectric Effect. Explain it en the basis of Quantum Theory. 2+3
(b) What stress would cause a wire to increase in length by 0.01 % if the Young’s Modulus
of the wire is 12 x 10" pa. What farce would produce this stress if the diameter of
the wire is 0.56 mm. 3
O {a) What is Nuelear Fission Reaction? Explain Fission Chain Reaction and controlled
reaction in 4 reactor, T hZad
{b) Find the speed of the eleciron in the first Bohr Orhit. 3
SECTION-TIT (PRACTICAL)
11). (a) Give answers to any Four., 4x2=8
(1) Cuve two uses of Potentiometer,
(i1} Draw the observation table to find the resistance of galvanometer by Halfl Deflection Method.
(1)) Why the V - [ graph of a lighted bulb is not a straight line?
(v} Draw the circuit diagram of wheatstone bridge.
(v)  How the AC current changes when capacitance is changed?
{vi)  Draw the truth table of NAND gate.
(vii)  Why the current does not pass through the palvanometer when slide wire bridge is balanced?
{(viii}  Why a di. ode does not conduct when it is reverse biasad?
()  Write down the procedure to find the emf of a cell using potentiometer, 3
OR
Write down the procedure to find the resistance of voltmeter.
() Answer the question given below on the basis af the following graph. 4

Graph-A (1} What do you infer from graph? (ii) Find the slope of graph.  OR
Graph-B (1) What do vou inler {tom graph? (ii) Find the slope of graph.

("rj-Ah-A OR Graph-B
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Papey Code 2017 (8) Roll No.
| Number: 84 INTERMEDIATE PART-IT (12" CLASS)

PHYSICS PAPER-11 (OLD SCHEME) (SESSION 2012-2014)
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for each objective type question as &, B, C and D. The choice which you
think is correct, fill that circle in front of that question number, Use marker or pen to fill the circles.
Cutting vr filling two or more circles will result in zero mark in that question. Attempt as many questions
a8 given in objective type question paper and leave others blank. No eredit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

().No.1

(1) Transistors are mads from:-

(A) Doped semi conductors  (B) Pure semi conductors (C) Insulators (D) Metals
For pair production, minimum energy of photon must be:-
(A)0.91 MeV (B) 031 MeV () 1.02 MeV (D) 0.10 MeV
(3) Einstein was awarded Nobel Prize for his explanation of:-
(A) Photeelectric effect  (B) Compton effect () Black body radiation (D) Special theory
4} Balmer series contain wavelengths in:-
(A) Uliraviolet region  (B) Far ultraviolet region  (C) Infrared region (D) Visible region

{3} The number of protons in an atom is alwavs equal to the number of:-

{A) Neutrons (B) Electrans (C) Positron (D) Mesons
{6) MNeutron was discovered in 1932 by -
[A) Bohr (B) Newton (C) Chadwick (D} Dirac
{7)  Farad is defincd as:-
Coulomb Ampere . Caulomb . Joule
&)  Volt & th ) " Joule 1) Coulomb
% II the distance between two charges is increased to double, then force between them becomes:-
(A) Half (B) Double (C) Four times (I3 One fourth
(9 Drift velocity of an electron in & conductor s of the order of-
(A) 107 m /! sec {B) 1070 m i sec () 0% m/ see (12) 107 m/ sec

(10 To measure the current ina cirewit ammeter is always connecled in:-
(A) Parallel (1) Series (C) Meither parallel nor series (1)) Some times parallel sometimes serias

(11} One Tesla is equal to:-

(A) NmA (B) Nm™'A™ (C) Nm™' 4 (D) Nm'A
(127 Electric field produces magnetic field was discovered by:-
{A) Qersted (B) Lenz (C) Faraday (D) Henry

{13)  When back emf in a circuit 15 zero, it draws:-

(A) Zero current (B} Minimum current (C) Maximum cwrent (D) Average current
(14)  The hiphest value reached by voltage or curtent in one cycle is called:-

(A) Peak to peak value  (B) Instantancous value (C) Peak value (D) Root mean square value
(15)  The phase angle between the voltage and current through a resistor is:-

(A 0 (B) 45° (C) 180" my 270°
(16}  The 51 unit of stress is the same as that ofi-

{4 Momentum (B) Pressure {C) Force (D) Length
(17)  Conversion of A.C into D.C is called:-

(A) Modulation (B) Amplification (C) Oscillation (D) Reciification
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